GREEN LAND SR. SEC. PUBLIC SCHOOL, LDH
HOLIDAY HOMEWORK
CLASS-VI

Dear Parents and Students

As we embark on the summer vacation, | want to remind you of the importance
of continued learning and growth during this time away from school. To ensure
that our students remain engaged and academically stimulated, we have
assigned summer vacation homework for all classes. This homework is designed
to reinforce concepts learned throughout the year and to prepare students for
the upcoming academic term. | urge all students to approach their summer
homework with diligence and responsibility. Completing these assignments will
not only enhance your academic skills but also help you start the new school
year on the right foot. Parents, your support in encouraging your children to
complete their summer homework is invaluable. By working together, we can
ensure that our students continue to thrive academically.

If you have any question or concern regarding the summer vacation homework,
please do not hesitate to reach out to your child's teachers .

Wishing everyone a productive and enjoyable summer break!

Principal




GREEN LAND SR. SEC. PUBLIC SCHOOL

Art Integrated Project
Class 6th Bacon, Chaucer, Keats, Milton

1. To find H.C.F and L.C.M using pasting strips on A3 size sheet.(Rollno. (1to5).
2. Prepare a working model of expanded form.( Roll no.6 to 10)

3. Prepare a working model of place value table. (Roll no. 11 to 15)

4. Make a chart on factors tree of number of your choice. (Roll no.

16to0 20)

5. Prepare a beautiful chart of divisibility test of 2, 3 and 4 (Roll no. 21 to 25)

6. Prepare a beautiful chart of divisibility test of 5,6 and 8 (Roll no.26 to 30)

7. Prepare a beautiful chart of divisibility test of 9,10 and 11 (Roll no.31to 35)

8. Collect information on any one of the famous mathematician. Write it on A3

sheet.
a. Aryabhatta b. Bhaskara  c. Shri Niwasan Ramanujan.( Roll no. 36 to 40)

9. Prepare 10 flash cards using thick colour sheet or cardboard.(

Roll no. 41 and 42)



Green Land Sr. Sec. Public School, Ludhiana
Class: VI Subject: English
Holidays Homework
Assignment No. 4 ( Reading)

Name: Class : Roll no.

1. Read any good book and write its review on A4 sheet.(Compulsory
Homework )

2. Solve one page of My Learning Port daily.

3. Three Assignments as Holidays Homework.

Q1. Read the following passage carefully :

Social networking sites have become an integral part of modern life, allowing people to connect with
friends, family, and colleagues, regardless of geographic location. These platforms provide a space for
sharing updates, photos, and memories, fostering a sense of community among users. However, the
rise of social media has also raised concerns about privacy, cyberbullying, and the impact on mental
health.

While social networking sites offer many benefits, such as facilitating communication and networking,
they also pose risks. Privacy breaches are a common concern, as personal information shared online
can be accessed by third parties without consent. Moreover, cyberbullying has emerged as a
significant issue, with users facing harassment and intimidation on these platforms.

The drawbacks of social networking sites is their potential negative impact on mental health. Excessive
use of social media has been linked to feelings of loneliness, depression, and anxiety, as users may
compare their lives to others highlight reels. Moreover, the constant stream of notifications and
updates can lead to addiction-like behaviour, with users feeling the need to constantly check their
profiles.

Despite these challenges, social networking sites continue to evolve, with efforts being made to
address concerns around privacy and mental health. Features such as privacy settings and reporting
tools aim to empower users to control their online experience and address harmful behaviour.
Additionally, initiatives promoting digital literacy and online safety seek to educate users about
responsible social media usage.

On the basis of your reading of the passage, answer the following questions briefly :
1. What role do social networking sites play in modern life according to the passage?

A) They hinder communication

B) They promote loneliness

C) They facilitate connection regardless of geographic location
D) They encourage isolation



2. What are some activities facilitated by social networking sites mentioned in the passage?
A) Playing video games
B) Sharing updates, photos, and memories
C) Cooking recipes
D) Reading books
3. What concerns are raised about privacy on social networking sites?
A) Users have complete control over their personal information
B) Personal information can be accessed by third parties without consent
C) Privacy settings are non-existent
D) There are no risks associated with sharing personal information online
4. What is cyberbullying, according to the passage?
A) Complimenting others online
B) Positive interactions on social media
C) Harassment and intimidation on social media platforms
D) Sharing helpful information online
5. What negative impact is associated with excessive use of social media on mental health?
A) Increased feelings of happiness and fulfilment
B) Feelings of loneliness, depression, and anxiety
C) Improved self-esteem and confidence
D) Reduced stress levels
6. How do social networking sites evolve to address concerns raised in the passage?

A) They ignore user concerns

B) They remove all privacy settings

C) They introduce features such as privacy settings and reporting tools

D) They increase the number of notifications and updates
7. What is the purpose of initiatives promoting digital literacy and online safety mentioned in the
passage?

A) To encourage addiction to social media

B) To educate users about responsible social media usage

C) To increase privacy breaches

D) To promote cyberbullying
8. What is the author's attitude towards the evolution of social networking sites to address concerns
raised in the passage?

A) Supportive
B) Critical

C) Indifferent

D) Ambivalent



Green Land Sr. Sec. Public School, Ludhiana
Class: VI Subject: English
Holidays Homework
Assignment No.5 ( Grammar)
Name: Class : Roll. No. :

Q1. Do as directed :

A. Nouns:

1. Identify the noun in the sentence: "The sun shines brightly in the sky."
Ans :

2. Find the proper nouns in the sentence: "Sara and Tom went to Paris for their vacation."

Ans :

3. Write a sentence using a collective noun.

Ans :

4.ldentify the abstract noun in this sentence: "Honesty is the best policy."

Ans :

5. Identify the abstract noun in this sentence: "Courage is the key to success."

Ans :

B. Pronouns:

6. Replace the underlined noun with a pronoun: "Jane and Lisa went to the store to buy
groceries."

Ans :

7. ldentify the personal pronouns in the sentence: "He loves to read books in his free time."

Ans :

8. Rewrite the sentence using an indefinite pronoun: "Everybody enjoyed the party."

Ans :

9. Rewrite the sentence using a possessive pronoun: "The book belongs to Sarah."

Ans :

10. Fill in the blanks with the correct pronouns:

a) Sarah and went to a movie last night.
b) The cat chase tail around the room.
C. Verbs:

11. Change the verb in the past tense: "She sings beautifully."



12. Choose the correct form of the verb to complete each sentence:

a) She (sing/sang/sung) beautifully.
b) We (go/went/gone) to the park every Sunday.
c) The children (play/played/playing) in the yard yesterday.

13. Identify the linking verb in this sentence: "The flowers smell fragrant."

Ans :

14. Rewrite the sentence using a modal verb: "He can swim across the lake."

Ans :

D. Adjectives:

15. Identify the adjectives in the sentence: "The big, fluffy dog barked loudly."

16. Fill in the blanks with the appropriate adjectives:

a) The cat slept peacefully on the windowsill.

b) He bought a car yesterday.

17. Identify the superlative adjective in this sentence: "She is the tallest girl in the class."
18. Rewrite the sentence using a possessive adjective: "The book belongs to Peter."

E. Sentences:

19. Change the sentence to a compound sentence: "l like pizza. My sister prefers pasta."

20. Identify the complex sentence in this group: "He studied hard because he wanted to pass
the exam."

21. Rewrite the sentence as an imperative sentence: "Please, close the window."

22. Change the sentence to an exclamatory sentence: "The fireworks display was
spectacular.”

F. Rearrange the following jumbled words into meaningful sentences
23. populated/the/country/largest/India/in/the/second/world

Ans :

24. rolling/gathers/a/stone/moss/no

Ans :

25. value/Tulsi/medicinal/a/great/have/leaves

Ans :




Green Land Sr. Sec. Public School, Ludhiana
Class: VI Subject: English
Holidays Homework
Assignment No. 6 ( Literature)
Chapter : The Selfish Giant

Name: Class : Roll no. :

Q1. Read the extract and answer the questions that follow :

The Giant's heart melted as he looked out. 'How selfish | have been!' he said; Now | know why
the Spring would not come here. | will put that poor little boy on the top of the tree, and then
| will knock down the wall, and my garden shall be the children's playground for ever and ever.
He was really very sorry for what he had done.

. What realization does the Giant come to in the passage?
. He discovers the secret to making his garden bloom.
. He realizes he needs to build a higher wall around his garden.
He understands the reason why spring wouldn't come to his garden.
. He decides to keep the garden all to himself forever.
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2. Why does the Giant's heart melt in the passage?
a. He sees the children playing in his garden.  b. He feels the warmth of the sun.
c. He hears laughter coming from outside. d. He realizes he has been selfish.

3. What does the Giant decides to do after realizing his mistake?
.Build a higher wall around his garden. b. Plant more flowers in his garden.
. Allow the children to play in his garden. d. Keep the garden all to himself forever.

[@ Y]

4. What was the consequence of the Giant's selfishness in the garden?
a. The trees withered away. b. Winter persisted while spring came everywhere else.
c. Flowers bloomed abundantly. d. The children stayed away from the garden.

Q2. Answer the following questions in 20-30 words.
1. How did the Giant celebrate the coming of the Spring?

Ans :

2. Why was it still Winter in one corner of the garden ?

Ans :

3. How did the other children react when they saw that the Giant was not wicked anymore?

Ans :




Poem - A Roti’s Grudge

Q 1. Read the extract and answer the questions that follow:

| never get a second glance

Hear 'yummy' on an off chance

Yet, there | sit in every plate

Round and ready to meet my fate

Q1. Who does not gets a second chance ?

Ans :

Q2. What is fate of Roti as discussed in the above passage?

AnNS :

Q3. What is tone of roti in the above passage?

Ans :

Q2. Read the extract and answer the questions that follow:

As I'm unceremoniously torn

Pinched into a scoop

A substitute for a spoon Dunked into lentil soup
Q1. What role do rotis play in the poem?

AnNSs :

Q2. What emotions are associated with rotis in the poem?

Ans :

Q3. How does the above passage create sense of humour in the poem?

Ans :

Q3. Tick the correct answers :
1. What is the central theme of the poem "A Roti's Grudge"?

a. The importance of food in our lives b. The emotions of an ignored roti

(@)

. The significance of family bonds d. The joys of cooking together

N

. What does the roti feel towards the end of the poem?

Q

. Happiness b. Sadness c. Anger d. Gratitude

3. Who is the author of the poem "A Roti's Grudge"?

Q

. Rupi Kaur  b. Natasha Sharma c. Lang Leav d. Maya Angelou
4. What literary device is used in the line "How can you leave me to die"?

a. Simile b. Metaphor c. Personification d. Hyperbole



GREEN LAND SR. SEC. PUBLIC SCHOOL
CLASS- VI SUBJECT — MATHEMATICS
CH -1 KNOWING OUR NUMBER
HOLIDAYS HOMEWORK

Q1. Choose the correct option:-
a. One million is equal to
a. one lakh b. 10 lakh c.1crore d.none of these

b. Largest 4- digit number using any one digit twice from 7, 5, 8 .

a. 8875 b. 8785 c. /7758 d. 5578
c.10 lakhs = million.
a. 10 b. 1 c.2 d. 100

d. Largest 5 digit number using the digits 4,5,6,7,2 is
a. 24567 b. 25674 c. 76542 d. None of these

e. How many even numbers are there between 15 and 25.

a.3 b. 2 c.6 d.5
Q2. Fill in the blanks:-
(i) 1 lakh = thousands
(i) 1 million = lakhs
(iii) 1 crore = millions
(iv)j2kg=_ g
(v) 1 litre = millilitres

Q3. Place commas correctly and write in numerals:-

a) Forty million six hundred two thousand sixty four.

b) Eight million six thousand five.

c) Seventy eight million four hundred one.

d) Sixty nine lakh twenty three thousand two hundred seven.

e) Ninety nine million two hundred five.



Q4. Insert commas suitably and write the names according to Indian and

International system of Numeration:-

(i) 9087654 (ii) 67542876 (iii) 78964311

(iv) 5674323 (v) 203107 (vi) 5672904

Q5. 12 km 750 m distance was travelled in 30 days. Find the distance travelled in 1

day.

Q6. Nitin is a famous cricket player. He has so far scored 6980 runs in test matches.

He wishes to complete 10,000 runs. How many more runs does he need?

Q7. Find the difference between the greatest 6- digit number and the smallest 5-

digit number.

Q8. Simplify the following :-

a.638X92 1. 754 X102 iii. 107 X 15 iv. 22 X134

Q9. Arrange the following numbers in ascending order :-

84,290 ; 25,391 ; 6,575 ; 8,314 ; 43,192

Q10. Arrange the following numbers in descending order :-

67,896 ; 89,674 ; 7,897 ; 6,790 ; 87,987



GREEN LAND SR. SEC. PUBLIC SCHOOL

CLASS- VI SUBJECT — MATHEMATICS
CH- 2 Whole Numbers
HOLIDAYS HOMEWORK
Q1. Multiple choice questions:-
a. The successor of the largest two digit number is ,
I. 99 ii. 98 iii. 100 iv. 10

b. The smallest even whole number is

i 2 i. 0 ii. 1 iv. None of these

c. The predecessor of 1 million is

1.9 g B ii. 100,001 iii. 998,999 iv. 100,000
d. Every whole number except has a predecessor.
1 ii. 0 i.-1 iv. None of these

e. Successor of 1 lakh is

1. 99,999 ii. 1,001 ii. 998 iv. 100,001

f. The difference between the successor and the predecessor of 99999 is

i1 i. 0 ii. 2 iv.-1

g. The difference between the place value and face value of 8 in 3,57,860 is

i. 808 ii. 800 iii. 792 iv. None of these
Q2. State whether True or False:-

a. Zero is the smallest natural number.

b. Zero is the smallest whole number.

c. All whole numbers are natural number.

d. The natural number 1 has no predecessor.

e. 600 is the successor of 599.



f. The sum of two even numbers is an even number.

g. The whole number 13 lies between 11 and 12.

h. The whole number 0 has no predecessor.

Q3. Write the successor of :-

a) 34697 b) 708343 c) 489600

Q4. Write the predecessor of :-
a) 24860 b) 909523 c) 3296140

Q5. Write the six natural numbers before 8732101.

Q6. Write the three natural numbers after 84423.

d) 56782

d) 89999

Q7. Write the natural numbers between 67897 and 67901.

Q8. Represent 9-3 on number line.

Q9. Represent 3+4 on number line.

Q10. Represent 4 x 3 on number line .



GREEN LAND SR. SEC. PUBLIC SCHOOL
CLASS- VI SUBJECT — MATHEMATICS
CH - 3 PLAYING WITH NUMBERS
HOLIDAYS HOMEWORK
Q1. Fill in the blanks :-

a.A of a number is an exact divisor of that number.

b. is a factor of every number.

c. The greatest prime number between 1 and 10 is

d. The number of multiples of a given number is

e. Number which are multiples of 2 are called numbers.

f. is the smallest and the only even prime number.

g. The sum of any two odd numbers is

h. is neither prime nor composite.

i. The smallest prime number is

j. Two consecutive odd prime numbers are known as

k. The sum of any two even number is

l. A set of three consecutive prime numbers differing by 2 is called a

m. A number is divisible by 6. If it is divisible by and both.

n. H.C.F of two consecutive even number is




0. A number is a multiple of each of its

Q2. Write all the factors of the following numbers :-

a. 45 b. 100 c.35 d. 125

Q3. Write first five multiples of :-

a. 40 b. 17 c. 45 d. 23

Q4. Write down separately the prime and composite numbers less than 35.

Q5. Write all prime numbers between 60 and 90 .

Q6. Find the common factor of 5, 15 and 25.

Q7. Find the three common multiples of 12 and 18.

Q8. Find the H.C.F by prime factorization method :

a. 20, 28 and 36 b. 70, 105 and 175

c. 12,45 and 75 d. 52,72 and 100

Q9. Find the H.C.F by long division method :-

a. 72, 144 and 252 b. 300, 324 and 372

c. 144, 180 and 192 d. 18, 54 and 81

Q10. Write first five natural numbers.



Q11. Write first five whole numbers.

Q12. Write first five even numbers.

Q13. Write first five odd numbers.

Q14. Write first five prime numbers.

Q15. Meenu purchases two bags of fertiliser of weights 75 kg and 69 kg. Find
the maximum value of weight which can measure the weight of the fertiliser

exact number of times.

Q16. The length, breadth and height of a room are 825 cm, 675 cm and 450 cm
respectively. Find the longest tape which can measure the three dimensions of

the room exactly.



GREEN LAND SR SEC PUBLIC SCHOOL

CLASS: VI SUB: SCIENCE  ASSIGNMENT: 1 (Ch-1 and Ch-3)
HOLIDAYS HOMEWORK

Name: Class: Section:

Tick the correct answer:

1. Which one of the following food item does not provide dietary fibre?

(@) Whole wheat (c) Milk

(b) Whole pulses (d) Fruits and vegetables

2. lodine is used to test the presence of :

(a) Proteins (c) Fats

(b) Vitamins (d) Starch

3. Main function of roughage in our body is:

(a) To provide energy (c) To keep bones and teeth healthy

(b) Body building (d) To get rid of undigested food

4. Which amongst the following methods would be the most appropriate to separate grains from the bundles
of stalks?

(a) Handpicking (c) Sieving

(b) Winnowing (d) Threshing

5. Which of the following statement is incorrect?

(a) Filtration is helpful in separating insoluble particles from a solution
(b) Sedimentation is the process of settling of heavier particles

(c) Sievingis the method where wheat flour can be separated from sand
(d) None of these

Fill in the blanks:

1. Solubility of salt increases with in temperature.

and are used to separate lighter solids from heavier solids.

3. The fibrous indigestible material present in our food is called

True or false:

1. Vitamin B complex helps in proper functioning of the digestive system.
Beri — Beri is caused due to deficiency of vitamin C.
3. The process of filtration can be used to separate seeds and pulp from fruit juices.

Answer the following questions:

1. Define the following terms:
(a) Sublimation:
(b) Loading:
(c) Dehydration:

(d) Deficiency disease:




2. Provide one word answer:
(a) I'help you grow and look healthy, | am found in meat, beans and dairy, who am I?

Ans:

(b) 1'am liquid transparent like water, | am not soluble in water. How would you separate me when | am in
water?

Ans:

3. What is the effect of solubility of gases in water?

Ans:

4. Mention two sources of each starch and sugar.

Ans:

5. How is obesity caused?

Ans:

6. Mention the role of water in our body.

Ans:

7. Why do we call water a universal solvent?

Ans:

8. Which material other than a strainer and a filter paper can be used for filtration?

Ans:

9. Why do we need to separate substances from their mixture?

Ans:

10. Complete the following table:

S. No. | Vitamins/Minerals | Source Deficiency Disease
1. Vitamin A

2. Vitamin C

3. Vitamin D

4. Iron

5. Calcium




ASSERTION- REASON BASED QUESTIONS

In the following questions, two statements are given- one labelled Assertion(A) and the other labelled
Reason(R). Select the correct answers to these questions from the codes (a),(b),(c) and (d) as given below.

(a) Both A and R are true and R is the correct explanation of the assertion.
(b) Both A and R are true but R is not the correct explanation of the assertion
(c) Aistrue butRis false.

(d) Ais false but R is true.

1. Assertion: Fats are energy giving foods.

Reason: If we eat more fats, we get more energy.

Ans.

2. Assertion: Air is a compound.

Reason: Air contains gases like oxygen, nitrogen, carbon dioxide and water vapours.

Ans.

3. Assertion: Deficiency of iodine causes goitre.

Reason: Swelling or lump in the neck region is a symptom of goitre.

Ans.

CASE BASED QUESTIONS:
Read the paragraph carefully and answer the questions that follow:

Midday meal scheme has been launched by the government of India. This scheme is also called School Lunch
or School Meal Programme. The aim of this programme is to provide free nutritious food in schools to
prevent malnutrition and promote education in rural India. This scheme was first introduced in Chennai in
1920. It has now been implemented by all states of India.

(@) In which state was Midday meal scheme first introduced?

Ans.

(b) The scheme is also called One Meal Programme. (TRUE or FALSE)

Ans.

(c) What is the aim of this programme?

Ans.




Green Land Sr. Sec. Public School

Class - VI Subject — Science Assignment — 2
Chapter — 7 (The Living Organisms and Their Surroundings)
Holidays Homework

Name: Class: Section:

Tick the correct option:

1. feed mainly on the dead remains of plants and animals.
(@)  Herbivores. (c) Decomposers
(b)  Carnivores. (d) Omnivores

2. What does the figure given below represent?

Sun

i: i; Carbon dioxide
. '\\7 /'_—\

Boy

Food and oxygen

(@) Interdependence between plants.
(b)  Interdependence between animals.
(c) Interdependence between plants and animals.
(d) Interdependence between abiotic factors.
3. Which statements are true about the tree in hilly areas?
(a)  These trees are naturally cone shaped.
(b)  They have sloping branches.
(c)  The leaves of some trees are needle like.
(d)  All of the above.
4. Which option is not an adaptation of animals living in polar regions?

(@  Wide and large paws. (c) Thin skin with scales
(b)  Layer of fat under skin. (d) Strong sense of smell
5. Which of the following is correctly paired?
(@  Desert — Dolphin (c) Terrestrial — Whale
(b)  Aquatic — Ant (d) Terrestrial — Deer
6. Which of the following is represented by ““ X ” in the figure given below:

Terrestrial ecosystem

v v
Forest X Desert

(@  Ocean (c) Grassland
(b) Island (d) Snowland




Answer the following questions:

1. The place where living organisms live is called their
2. Define biotic and abiotic components of the environment.

Ans.

1.

3. What do you mean by acclimatisation?

Ans.

4. The habitat of plants and animals that live on land are called habitat.
5.Write two adaptive features of cactus plant to live in desert.

Ans.

6.Why are leaves of plants in mountain region reduced to needle - like structures?

Ans.

7. Name four animals which are adapted to live in mountain habitat.

Ans.

8. What is camouflage?

Ans.

9. Some aquatic animals such as dolphins and whales do not have gills. How do these animals breathe?

Ans.

10.Write two examples of each: (i) free floating plants, (ii) submerged plants and (iii) emergent plants.

Ans.

Case - based questions.

Read the paragraph given below and answer the questions that follow:

Living organisms live everywhere on the earth. They live on land, in oceans, high oceans, high mountains, inside
our house and even inside our bodies. They cannot live in isolation. All organisms, whether plants or animals
need food and other materials from their surroundings to survive. Everything that surrounds and affects an

organism is known as its environment.

(@) Which one of the following statements is correct?

(i) All organisms, whether plants or animals need food and other materials from their surroundings to

survive.
(i) Living organisms cannot live in isolation.
(ili)  Both the statements are correct.
(iv)  None of these is correct.
(b) Everything that surrounds and affects an organism is known as its:
0] Environment (iii) Adaptation
(i) Habitat (iv) none of these

(c) Where do living organisms live on earth?

Ans.




Green Land Sr. Sec. Public School

Class - VI Subject - Science Assignment - 3
Chapter - 8 (Motion and Measurement of Distance)
Holidays Homework

Name - Class - Section-

Answer the following:
1. Define the following terms:-

(a) Measurement -

(b) Physical Quantity -
2. Fill in the blanks:

(a) The SI unit of length is __
(b) The SI unit of time is

(c) When an object moves in a straight line then its motion is called motion.

3. Write two examples for each of the following type of motion:

(a) Translatory motion :

(b) Circular motion :

(c) Rectilinear motion :

(d) Periodic motion :

4. Correct and rewrite the statements:-

(a) A car moving along a curved path is an example of Rotatory Motion.
Ans.

(b) 1m =1000 cm

Ans.

(c) Standard units of measurement are those that vary from place to place or person to person.

Ans.

5. Assertion - Reason based questions.

In the following questions two statements are given - one labelled Assertion (A) and the other
labelled Reason (R). Select the correct answer to these questions from the choices (a), (b), (c) and
(d) as given below:

(a) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, and (R) is not the correct explanation of the (A).
(c) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.



1. Assertion — Any quantity that can be measured is a physical quantity.

Reason: Time is a physical quantity.

Ans.

2. Assertion: Ancient people were unable to measure accurately.

Reason: Ancient people did not have any standard methods or tools for measurement.

Ans.

3. Assertion: The wheels of a moving vehicle exhibits rotational and translatory motion both.
Reason: Circular motion is the one in which an object moves around a fixed point in a circular path.
Ans.

6. Choose the correct option:

(i) The distance between Delhi and Mumbai is usually expressed in units of :

(a) metre (b) centimetre

(c) millimetre (d) kilometre

(ii) The figure given below shows a measuring scale. Which of the following distance cannot be
measured with this scale by using it only once?

l:g:!'l'l'l'l'l' 'll 'l'l'l'l'l'l'l']”'l'l' ll' 'l'l'l'l'l'l'l‘: 'l'l'l'l'l'l'l'l'l'l'l'l'l']'l'l
Sl Ivb, JEL, J2b, bv, [Ob, 16, I8 L, IO b€, |2 L

() 0.1 m (b) 0.15m
(c)0.2m (d) 0.05m
(iii) Rahul has a rope which is 2 metres long. The length of this rope in centimetres is
(a) 2000 (b) 200
(c) 0.20 (d) 20
(iv) Ria was playing a sitar. Sia observed that only the string of sitar was moving and not the whole
body of sitar. The motion of the string exhibits motion.
(a) oscillatory (b) vibratory
(c) periodic (d) circular

(v) Rama’s house is 6540 metres from her friend’s house. The distance in kilometres is
(a) 6.54 (b) 65400
(c) 0.654 (d) 6.054



Green Land Sr. Sec. Public School, Ludhiana
Class—VI Subject Social Science
Ch-2 Prejudice, Discrimination and Inequality (Civics)
Holidays Homework (Practice Assignment-1)

Q-1 Multiple Choice Questions -

1. Morethan _ languages and dialects are spoken in India.
a) 1100 b) 1200 c) 1400 d) 1600

2. When we form a fixed idea or image of certain people, we them.
a) prejudice b) stereotype c) equalise d) discriminate

3. Dalits have now been categorised as the
a) Scheduled Castes b) Scheduled Tribes c) Other Backward Classes d)
Generals

4, Is important for the upliftment of the nation.

a) Discrimination b) Equality c) Prejudice d) Stereotype

5. Gandhiji called the untouchables as

a) Common people b) Mahajan ¢) Harijan d) None of these

Q-2 Fill in the blanks-

1. IS a secular state.

2. The safeguards the freedom of religion of all people.
3. Inour society are treated as unequal in many areas.
4. In the vedic age, people were classified into major varnas.

5 fought against racial discrimination.

Q-3 Define the following terms—

1. Prejudice

2. Stereotype

3. Apartheid

4. Dalit




5. Inequality

Q-4 Answer the following questions —
1. What are the various acts of discrimination in the society?

Ans

2. What is Gender Equality? Why is it important?
Ans

3. What is Constitution? What does our constitution ensure?
Ans

4. On what basis are people discriminated in India?
Ans

Q-5 State whether the given statements are True or False-

1. The British called Asians as Blacks.

2. All religions in the world teach people to be unfair or unjust to others.

3. In foreign countries there is no gender bias in doing any housekeeping work.
4. Equality gives rise to discrimination.

5. Shudras were supposed to be next to God.



Green Land Sr. Sec. Public School, Ludhiana
Class—VI Subject Social Science
Ch-2 Globe: Latitudes and Longitudes (Geography)
Holidays Homework (Practice Assignment-2)

Q-1 Multiple Choice Questions -

1. Which of these cannot be shown on a globe in their correct size?

a) Countries b) Villages c) Continents d) Oceans
2.The Equator represents the latitude.

a)0° b) 23%° N c) 23 %°S d) 66%°N
3. is the coldest zone of the Earth.

a) The Torrid Zone b) The Temperate Zone c) The Frigid Zone d) None of these
4. The time at the Prime Meridian is called the

a) Local Time b) Standard Time c) Indian Standard Time d) Greenwich Mean Time
5The world is divided into _ time zones of 1 hour each.

a) 23 b) 24 c) 22 d) 20

Q-2 Fill in the blanks-

1. The network of parallels of latitudes and meridians of longitudes is called

2. is the main longitude. It’s value is longitude.

3. The Standard Meridian of India is

4. 180° East and 180° West Meridians are on the same line known as

5. The Zone is neither too hot nor too cold.

Q-3 Write the full form of —
1. IST

2. GMT




Q-4 Answer the following questions —
1. What is a globe? When and where was the first globe made?

Ans

2. What are parallels of latitude and meridians of longitude?

Ans

3. How are latitudes important to us?

Ans

4.How can we locate a place on the globe?

Ans

Q-5 Case Study -

It divides the earth into two equal halves called the hemispheres. To the north of the Equator
is the Northern Hemisphere and to the South is the Southern Hemisphere . It is the reference
or the basic line that helps to draw and name other horizontal lines parallel to it and indicates
whether they are North or South of the Equator. Since it is the starting line, it is marked as 0°.

Answer the following questions on the basis of the source given above-

1. Which is the longest line of latitude?

Ans-

2. There are parallels in each hemisphere.
3. What are Northern Latitudes and Southern Latitudes?

Ans-




Green Land Sr. Sec. Public School
Class-VI Subject- Social Science
Holidays Homework (Assignment No. 3)

Geography Ch-1 The Solar System & Civics Ch-1 Diversity

Q-1. What is a cluster of millions of stars called?
A) Constellation B) Comet C) Satellite D) Galaxy

Q-2. What is the hindi name of planet “Mars”?

Q-3. The Full Moon Night is also known as Amavasya. (True/False)

Q-4. was the first man to land on the moon.

Q-5. Write the name of any one dwarf planet.

Q-6. Which of these is not a tertiary activity?
A) Transportation B) Dairy Farming C) Banking D) Communication

Q-7. West Bengal is rich in minerals. (True/False)

Q-8. is both unifying and dividing force.

Q-9. When do we celebrate Republic Day?

Q-10. What do you mean by Constellation? Name any one Constellation.

Ans

Q-11. Who practiced the policy of “Divide and Rule” and why?

Ans

Q-12. Picture Based Question-




a) Identify the person in the given picture.
b) What was written by him? ( National Anthem/ National Song).

Q-13. Write any three points about the largest planet of the Solar System.
Ans

Q-14. Mention any three factors that promote Unity in India.
Ans

Q-15 . What are Asteroids and Comets? Explain in brief.
Ans

Q-16. Case Based Question-

Read the following source and answer the questions that follow-

India is known as a land of festivals. Persons belonging to different religions
celebrate different festivals. Holi ,Diwali ,Rakshabandhan , Dussehra and
Janmashtami are the main festivals of the Hindus. Eid is an important

festival of the Muslims. Baisakhi is the harvest festival of Punjab.

Q-1. Which is the harvest festival of Assam?

Q-2. Onam is celebrated in

Q-3. Name any two national festivals celebrated in India.

Ans-
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